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1. Match List I with List II :

List –I (molecule) List –II (hybridization; shape)

A. XeO3 I. sp d; linear
3

B. XeF2 II. sp ; pyramidal
3

C. XeOF4
III. sp d ; distorted octahedral

3 3

D. XeF6 IV. sp d ; square pyramidal
3 2

Choose the correct answer from the options given below :

feyku dhft, &

lwph I rFkk lwph II :

A. XeO3 I. sp d; jSf[kd3

B. XeF2 II. sp ; fijSfeMh3

C. XeOF4
III. sp d ; 3 3 fod`r v’VQydh;

D. XeF6 IV. sp d ; 
3 2 oxZ fijSfeMh

lwph – I ( )v.kq lwph – II ( ; )ladj.k vkdf̀r

uhps fn, x, fodYiksa esa ls lgh mÙkj pqusa &

(1) A - II, B - I, C - IV, D-III (2) A - II, B - IV, C - III, D-I

(3) A - IV, B - II, C - III, D-I (4) A - IV, B - II, C - I, D-III

Question ID:1569461

Ans. Official Answer NTA (1)

Sol. XeO
3
  sp3, Pyramidal

XeF
2
  sp3d, linear

XeOF
4
  sp3d2, square pyramidal

XeF
6
  sp3d3, distorted octahedral

2. Two solutions A and B are prepared by dissolving 1 g of non-volatile solutes X and Y, respectively in 1 kg of

water. The ratio of depression in freezing points for A and B is found to be 1 : 4. The ratio of molar masses of

X and Y is
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vok"i'khy foys;ksa X ,oa Y ds 1 g dks 1 kg ty esa ?kksydj nks foy;u Øe'k % A ,oa B cuk, x,A A ,oa B ds fgekadks

esa voueu dk vuqikr 1 : 4 ik;k x;kA X ,oa Y ds eksyj nzO;ekuksa dk vuqikr gS %

(1) 1 : 4 (2) 1 : 0.25 (3) 1 : 0.20 (4) 1 : 5

Question ID:1569462

Ans. Official Answer NTA (2)

Sol. T
f
 = i k

f
 × m

 

 

f A

f B

T 1

T 4






f

A

f

B

1
i K 1

M 1

1 4i K 1
M

  



  

B

A

M 1

M 4


M
A
 : M

B
 = 4 : 1

3.
1 2a a,K K and

3aK are the respective ionization constants for the following reactions (a), (b) and (c).

(a) H
2
C

2
O

4
   H+ + HC

2
O

4
–

(b) HC
2
O

4
–   H+ + HC

2
O

4
2–

(c) H
2
C

2
O

4
   2H+ + C

2
O

4
2–

The relationship between
1 2a a,K K and aK

3
is given as

fuEufyf[kr vfHkfØ;kvksaa  (a), (b) vkSj (c) ds fy, vk;uu fLFkjkad Øe'k %
1 2a a,K K ,oa 

3aK  gSa&

(a) H
2
C

2
O

4
   H+ + HC

2
O

4
–

(b) HC
2
O

4
–   H+ + HC

2
O

4
2–

(c) H
2
C

2
O

4
   2H+ + C

2
O

4
2–

1 2a a,K K ,oa aK
3
esaa lEcU/k gS&

(1) 
3 1 2a a aK = K + K (2) 

3 1 2a a aK = K – K (3) 
3 1 2a a aK = K / K (4) 

3 1 2a a aK = K K

Question ID:1569463

Ans. Official Answer NTA (4)

Sol.
1

+
2 2 4 2 4 aH C O   H  + HC O K
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2

+ 2
2 2 4 2 4 aH C O   H  + C O K 

3 1 2

+ 2
2 2 4 2 4 a a aH C O   2H + C O K K K  

4. The molar conductivity of a conductivity cell filled with 10 moles of 20 mL NaCl solution is
m1Λ and that of 20

moles another identical cell heaving 80 mL NaCl solution is
m2Λ , The conductivities exhibited by these two

cells are same.

The relationship between
m2Λ and

m1Λ  is

;fn ,d pkydrk lsy ftlesa NaCl ds 10 eksy okyk 20 mL foy;u Hkjk gqvk gS] dh eksyj pkydrk 
m1Λ gS rFkk nwljk

ftlesa NaCl ds  20 eksy okyk 80 mL foy;u Hkjk gqvk gS] dh eksyj pkydrk 
m2Λ  gSA bu nksuksa lsyksa dh pkydrk,¡

leku gSaA

m2Λ ,oa
m1Λ  esa lEcU/k gS&

(1) 
m2 m1Λ =2Λ (2) 

m2 m1Λ =Λ / 2 (3) 
m2 m1Λ =Λ (4) 

m2 m1Λ =4Λ

Question ID:1569464

Ans. Official Answer NTA (1)

Sol. m

1000

M
  

m

1

M
 

1

2

m 2

m 1

20
M 1 2 180

10M 4 1 2
20


    



2 1m m2  

5. For micelle formation, which of the following statements are correct ?

(a) Micelle formation is an exothermic process.

(b) Micelle formation is an endothermic process.

(c) The entropy change is positive.

(d) The entropy change is negative.

(1) A and D only (2) A and C only (3) B and C only (4) B and D only

felsy fuekZ.k ds fy,] fuEufyf[kr esa ls dkSu&ls dFku lgh gSa ?

(a) felsy fuekZ.k ,d Å"ek{ksih izfØ;k gSA

(b) felsy fuekZ.k ,d Å"ek'kks"kh izfØ;k gSA

(c) bldk ,UVªkWih ifjorZu /kukRed gSA



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 25 July  Shift-2

Page No. 5

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

(d) bldk ,UVkWih ifjorZu _.kkRed gSA

(1) dsoy A rFkk D (2) dsoy A rFkk C (3) dsoy B rFkk C (4) dsoy B rFkk D

Question ID:1569465

Ans. Official Answer NTA (2)

Sol. Micelle formation is an endothermic process with positive entropy change.

6. The first ionizaton enthapies of Be, B, N and O follow the order

Be, B, N ,oa O dh izFke vk;uu ,UFkSfYi;k¡ ftl Øe dk vuqlj.k djrh gSa] og gS %

(1) O < N < B < Be (2) Be < B < N < O (3) B < Be < N < O (4) B < Be < O < N

Question ID:1569466

Ans. Official Answer NTA (4)

Sol. Be = 1s2, 2s2

B = 1s2, 2s2, 2p1

N = 1s2, 2s2, 2p3

O = 1s2, 2s2, 2p4

As IE of N > O [due to Half-filled configuration]

IE of Be > B [due to penetration effect]

So, correct order  B < Be < O < N.

7. Given below are two statements :

Statement I : Pig iron is obtained by heating cast iron with scrap iron.

Statement II :  Pig iron has a relatively lower carbon content than that of cast iron.

In the light of the above statement, choose the correct answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are not correct.

(3) Statement I is correct but Statement II is not correct.

(4) Statement I is not correct but Statement II is correct.

uhps nks dFku fn, x, gSa&

dFku & I : <yok¡ yksgs dks jíh yksgs ds lkFk xeZ djds dPpk yksgk (fix vk;ju) cuk;k tkrk gSA

dFku & II :  fix vk;ju esa <yok¡ yksgs dh rqyuk esa dkcZu dh vis{kkd`r de ek=kk gksrh gSA

mi;qZä dFkuksa ds vk/kkj ij uhps fn, x, fodYiksa esa ls lcls lgh mÙkj pqusa&

(1) dFku & I ,oa dFku & II nksuksa lgh gSaA

(2) dFku & I ,oa dFku & II nksuksa lgh ugha gSaA
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(3) dFku & I lgh gS] ijUrq dFku & II lgh ugha gSA

(4) dFku & I lgh ugha gS] ijUrq dFku & II lgh gSA

Question ID:1569467

Ans. Official Answer NTA (2)

Sol. Cast iron is made by melting pig iron with scrap iron and coke using hot air blast.

Hence Statement-I is incorrect

But Pig iron has relatively more carbon content

Hence Statement-II is incorrect

8. High purity (>99.95%) dihydrogen is obtained by

(1) Reaction of zinc with aqueous alkali.

(2) Electrolysis of acidified water using platinum electrodes.

(3) Electrolysis of warm aqueous barium hydroxide solution between nickel electrodes.

(4) Reaction of zinc with dilute acid.

vfr 'kq) MkbgkbMªkstu (>99.95%) izkIr dh tkrh gS&

(1) tyh; {kkj ds lkFk ftad dh vfHkfØ;k }kjk

(2) IySfVue bysDVªksM dk mi;ksx djrs gq, vEyhd`r ty ds oS|qr vi?kVu }kjk

(3) fudSy bysDVªksMksa ds e/; xeZ tyh; csfj;e gkbMªksDlkWbM foy;u ds oS|qr viVu }kjk

(4) ruq vEy ds lkFk ftad dh vfHkfØ;k }kjk

Question ID:1569468

Ans. Official Answer NTA (3)

Sol. High purity (>99.95%) H
2
 is obtained by electrolysing warm aqueous Ba(OH)

2
 solution between nickel

electrodes.

9. The correct order of density is

?kuRo dk lgh Øe gS %

(1) Be > Mg > Ca > Sr (2) Sr > Ca > Mg > Be

(3) Sr > Be > Mg > Ca (4) Be > Sr > Mg > Ca

Question ID:1569469

Ans. Official Answer NTA (3)

Sol. In II ‘A’ group density decreases down the group till Ca and after that it increases.

Correct order of density is

Sr > Be > Mg > Ca
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10. The total number of acidic oxides from the following list is

NO, N
2
O, B

2
O

3
, N

2
O

5
, CO, SO

3
, P

4
O

10

fuEufyf[kr lwph esa ls vEyh; vkWDlkbMksa dh dqy la[;k gS %

NO, N
2
O, B

2
O

3
, N

2
O

5
, CO, SO

3
, P

4
O

10

(1) 3 (2) 4 (3) 5 (4) 6

Question ID:1569470

Ans. Official Answer NTA (2)

Sol. Neutral Oxides  N
2
O, NO, CO

Acidic Oxides  B
2
O

3
, N

2
O

5
, SO

3
, P

4
O

10

11. The correct order of energy of absorption for the following metal complexes is A :

[Ni(en)
3
]2+, B : [Ni(NH

3
)

6
]2+, C : [Ni(H

2
O)

6
]2+

fuEufyf[kr /kkrq ladqyksa ds fy, vo'kksf"kr ÅtkZ dk lgh Øe gS&

A : [Ni(en)
3
]2+, B : [Ni(NH

3
)

6
]2+, C : [Ni(H

2
O)

6
]2+

(1) C < B < A (2) B < C < A (3) C < A < B (4) A < C < B

Question ID:1569471

Ans. Official Answer NTA (1)

Sol. All are Ni2+ complex so stronger the ligand, greater is the spliting of d orbital and greater is amount of energy

absorbed.

Order of strength of ligands : en > NH
3
 > H

2
O

hc
E 



12. Match List I with List II :

List –I List –II

A. Sulphate I. Pesticide

B. Fluoride II. Bending of bones

C. Nicotine III. Laxative effect

D. Sodium arsinite IV. Herbicide

Choose the correct answer from the options given below :
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lwph I dk feyku lwph II ls djsa &

A. lYQsV I. ihM+duk”kh

B. ¶yqvksjkbM II. gfÏ;ksa dk eqM+uk

C. fudksVhu III. fojspd izHkko

D. lksfM;e vkflZukbV IV. “kkduk”kh

lwph – I lwph – II

uhps fn, x, fodYiksa esaa ls lg mÙkj pqusa :

(1) A - II, B - III, C - IV, D-I (2) A - IV, B - III, C - II, D-I

(3) A - III, B - II, C - I, D-IV (4) A - III, B - II, C - IV, D-I

Question ID:1569472

Ans. Official Answer NTA (3)

Sol. Sodium arsinite  Herbicide

Nicotine  Pesticide

Sulphate  Laxative effect

Fluoride  Bending of bones

13. Major product of the following reaction is

fuEufyf[kr vfHkfØ;k dk eq[; mRikn gS&

2 HBr
O

O

(1) 
O

O

Br

Br
(2) 

Br

O

O

Br

(3) 

O

O

BrBr

(4) 
O

O

Br

Br

Question ID:1569473

Ans. Official Answer NTA (4)
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Sol.

O

O
+ H – Br

 HBr

O

O

O

O

Br

Br

Br

14. What is the major product of the following reaction ?

fuEufyf[kr vfHkfØ;k dk eq[; mRikn D;k gS ?

O

H
2

OH
H O


–

(1) 

O

H
(2) 

O

H

OH

(3) 

O

H

O

(4) 

O

H

Question ID:1569474

Ans. Official Answer NTA (2)

Sol.

O

HH

HO
O

H

O

H

O

H

O

O

H

HO

H O2
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15. Arrange the following in decreasing acidic strength.

fuEufyf[kr dks vEyh; izcyrk ds ?kVrs gq, Øe esa O;ofLFkr djsa &

OH 

 NO2

OH OH OH 

 NO2

 OCH3

 OCH3

(a) (b)  (c) (d)

(1) A > B > C > D (2) B > A > C > D (3) D > C > A > B (4) D > C > B > A

Question ID:1569475

Ans. Official Answer NTA (1)

Sol. The correct order of acid strength is

OH OH OH OH

> > >

 NO2  OMe

 NO2  OMe

16. 3 3
3 2

+CH MgBr H O Zn–Hg
CH – CH – CN A B C

Ether HCl
  

The correct structure of C is

3 3
3 2

+CH MgBr H O Zn–Hg
CH – CH – CN A B C

Ether HCl
  

C dh lgh lajpuk gS&

(1) CH
3
 – CH

2
 – CH

2
 – CH

3
(2) 3 2 3CH – CH – C – CH

O


(3) 
3 2 3CH – CH – CH – CH

OH
|

(4) CH
3
 – CH

2
 – CH = CH

2

Question ID:1569476

Ans. Official Answer NTA (1)
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Sol.
3CH MgBr

3 2 3 2 3

NMgBr
||

CH CH C N CH CH C CH    

3H O

Zn/Hg
3 2 2 3 3 2 3HCl

O
||

CH CH CH CH CH CH C CH  

(Clemmensen Reduction)

17. Match List I with List II :

List –I (Polymer) List –II (Used for items)

A. Nylon 6, 6 I. Buckets

B. Low density polythene II. Non-stick utensils

C. High density polythene III. Bristles of brushes

D. Teflon IV. Toys

Choose the correct answer from the options given below :

lwph & I dk lwph &II ls feyku dhft, &

lwph –I ( )cgqyd

A.  6, 6ukbykWu

lwph –II ( )oLrq,¡

B. vYi ?kuRo ikWfyFkhu

C. mPp ?kuRo ikWfyFkhu

D. Vs¶ykWu IV. f[kyksusa

III. cz”kksa ds “kwd

II. ukWu&fLVd crZu

I. ckYVh

lgh fodYi dks pqusa :

(1) A - III, B - I, C - IV, D - II (2) A - III, B - IV, C - I, D - II

(3) A - II, B - I, C - IV, D - III (4) A - II, B - IV, C - I, D - III
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Question ID:1569477

Ans. Official Answer NTA (2)

Sol. Nylon 6, 6  used in making bristles of brushes

Low density polythene  used in making Toys

High density polythene  used in making Buckets

Teflon  used in making non-stick utensils

18. Glycosidic linkage between Cl of -glucose and C2 of -fructose is found in

(1) Maltose (2) Sucrose (3) Lactose (4) Amylose

-Xywdksl ds C1 ,oa -ÝDVksl ds C2 ds e/; XykbdkslkbMh ca/k ftlesa ik;k tkrk gS] og gS

(1) ekYVksl (2) lwØksl (3) ySDVksl (4) ,sfeyksl

Question ID:1569478

Ans. Official Answer NTA (2)

Sol.
CH OH2

HOH C2

HOH

H

5

4
O

 OH H

3

2

6

5

4
HH

H
H

H

3

1

 OH

HO
 OH

2

1

–D–Glucose

Sucrose

Glycosidic
linkage

–D–Fructose

CH OH2

6

O
O

19. Some drugs bind to a site other than the active site of an enzyme. This site is known as

(1) Non-active site (2) Allosteric site (3) Competitive site (4) Therapeutic site

dqN vkS"k/k] ,Utkbe ds lfØ; LFky ij tqM+us dh txg vU; LFky ij tqM+rs gSaA ,sls  LFky dgykrs gSa&

(1) ukWu&lfØ; LFky (2) ,yksLVhfjd LFky (3) Li/khZ LFky (4) fpfdRlh; LFky

Question ID:1569479

Ans. Official Answer NTA (2)

Sol. Some drugs do not bind to the enzyme’s active site.

These bind to a different site of enzyme which is called allosteric site.
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20. In base vs. acid titration, at the end point methyl orange is present as

(1) Quinonoid form (2) Heterocyclic form (3) Phenolic form (4) Benzenoid form

fdlh {kkjd&vEy vuqekiu esa] rqY;kad fcUnq ij esfFky vkWjast dk :i gSS&

(1) fDouksukWbM :i (2) fo"kepfØ; :i (3) Q+hukWfyd :i (4) csUt+hukW;M :i

Question ID:1569480

Ans. Official Answer NTA (1)

Sol. For an acid base titration, methyl orange exist at end point as Quinonoid form

–
O S3 N=N N H

+
–
O S3 NH N

 CH3

 CH3

N

 CH3

 CH3

.. .. .. +..

Benzenoid form of the anion
(Yellow in colour)

Quinonoid form of the anion
(Pinkish red in colour)

21. 56.0 L of nitrogen gas is mixed with excess of hydrogen gas and it is found that 20 L of ammonia gas is

produced. The volume of unused nitrogen gas is found to be ___ L.

56.0 L ukbVªkstu xSl dks gkbMªkstu xSl ds vkf/kD; esa feykus ij ik;k x;k fd 20 L veksfu;k mRiUu gqbZ gSA viz;qDr

ukbVªkstu xSl dk vk;ru __ L gSA

Question ID:1569481

Ans. Official Answer NTA (46)

Sol. N
2
(g) + 3H

2
(g)  2NH

3
(g)

t = 0 56 litre excess —

56 – 10 20 litre

= 46 litre

volume of N
2
(g) remain unreacted = 46 litre

22. A sealed flask with a capacity of 2 dm3 contains 11 g of propane gas. The flask is so weak that it will burst if the

pressure becomes 2 MPa. The minimum temperature at which the flask will burst is __________°C. [Nearest

integer]

(Given : R = 8.3 J K–1 mol–1, Atomic masses of C and H are 12U and 1u, respectively.) (Assume that propane

behaves as an ideal gas.)

2 dm3 {kerk okys ,d can ¶ykLd esa 11 g izksisu xSl gSA ¶ykLd bruk detksj gS fd og QV tk,xk ;fn nkc  2 MPa

ls vf/kd gks tk,A U;wuÙke rkieku ftl ij ¶ykLd QV tk,xk________°C gSA [fudVre iw.kkZad]
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(fn;k x;k gS : R = 8.3 J K–1 mol–1, C ,oa H ds ijek.kq nzO;eku Øe'k % 12u ,oa 1u gSa)

(eku yhft, fd izksisu ,d vkn'kZ xSl tSlk O;ogkj djrh gSA)

Question ID:1569482

Ans. Official Answer NTA (1655)

Sol. Moles of C
3
H

8
 = 

11

44
 = 0.25 moles

PV = nRT

 2 × 106 × 2 × 10–3 = 0.25 × 8.3 × T

 T = 1927.710 K = 1654.56°C

23. When the excited electron of a H atom from n = 5 drops to the ground state, the maximum number of emission

lines observed are __________.

tc ,d gkbMªkstu ijek.kq dk mÙksftr bysDVªkWu n = 5 ls vk| voLFkk eas vkrk gS rks izsf{kr mRlftZr js[kkvksa dh

vf/kdre la[;k ________gSA

Question ID:1569483

Ans. Official Answer NTA (4)

Sol. Since there is a single hydrogen atom, so only

5  4, 4  3, 3  2, 2  1 lines are obtained.

24. While performing a thermodynamics experiment, a student made the following observations.

HCl + NaOH  NaCl + H
2
O H = –57.3 kJ mol–1

CH
3
COOH + NaOH  CH

3
COONa + H

2
O H = –55.3 kJ mol–1

The enthalpy of ionization of CH
3
COOH as calculated by the student is __________ kJ mol–1.

(Nearest integer)

Å"ekxfrdh ds iz;ksx dks djrs gq, ,d fo|kFkhZ dk fuEufyf[kr i;Zos{k.k gS

HCl + NaOH  NaCl + H
2
O H = –57.3 kJ mol–1

CH
3
COOH + NaOH  CH

3
COONa + H

2
O H = –55.3 kJ mol–1

fo|kFkhZ }kjk CH
3
COOH dh ifjdfyr vk;uu ,UFkSYih__________ kJ mol–1 gS

Question ID:1569484

Ans. Official Answer NTA (2)
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Sol. HCl + NaOH  NaCl + H
2
O H

1
 = –57.3 KJ mole–1

CH
3
COOH + NaOH  CH

3
COONa + H

2
O H

2
 = –55.3 KJ mole–1

CH
3
COOH   CH

3
COO– + H+ H

3
 = ?

H
3
 = H

2
 – H

2
 = +2.0 KJ mole–1

25. For the decomposition of azomethane,

CH
3
N

2
CH

3
(g)  CH

3
CH

3
(g) + N

2
(g), a first order reaction, the variation in partial pressure with time at 600

K is given as

Slope = –3.465 × 104

p
ln

0p

 
 
 
 

t/s

The half life of the reaction is __________ × 10–5s. [Nearest integer]

,tksesFksu dk vi?kVu]

CH
3
N

2
CH

3
(g)  CH

3
CH

3
(g) + N

2
(g) tks ,d izFke dksfV dh vfHkfØ;k gS, ds fy,

600 K ij le; ds lkFk vkaf'kd nkc esa ifjorZu uhps fn;k x;k gSA

<ky = –3.465 × 104

p
ln

0p

 
 
 
 

t/s

vfHkfØ;k dh v)Z vk;q gS _______ × 10–5s A [fudVre iw.kkZad]

Question ID:1569485

Ans. Official Answer NTA (2)

Sol.
0P1

k n
t P

 
  

 


0

P
Kt n

P

 
   

 

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 
0

P
n k t

P

 
  

 


slope = –k = –3.465 × 104

k = 3.465 × 104 sec–1

1
2

4 5

4

0.693 1
t 10 sec 2 10 sec

3.465 10 5
     



26. The sum of number of lone pairs of electrons present on the central atoms of XeO
3
, XeOF

4
 and XeF

6
. is

 __________

XeO
3
, XeOF

4
 ,oa XeF

6 
ds dsUnzh; ijek.kqvksa ij mifLFkr bysDVªkWuksa ds ,dkdh ;qXeksa dh la[;k dk ;ksx_____gSA

Question ID:1569486

Ans. Official Answer NTA (3)

Sol. XeO
3
  

Xe

OO
O

··

 no. of lone pair = 1

sp3, pyramidal

XeOF
4
  

F
Xe

F

F

F

O

..
 no. of lone pair = 1

sp3d2, square pyramidal

XeF
6 
 

F
Xe

F

F

F

··
F

F

 no. of lone pair = 1

sp3d3, distorted octahedral

27. The spin-only magnetic moment value of M3+ ion (in gaseous state) from the pairs Cr3+/Cr2+, Mn3+/Mn2+, Fe3+/

Fe2+ and Co3+/Co2+ that has negative standard electrode potential, is __________ B.M. [Nearest integer]

;qXeksa Cr3+/Cr2+, Mn3+/Mn2+, Fe3+/Fe2+ ,oa Co3+/Co2+ esa ls og ;qXe ftldk ekud bysDVªkWM foHko _.kkRed gS]

mlds M3+ vk;u (xSlh; voLFkk eas) dk dsoy fLIku pqEcdh; vk?kw.kZ ______ B.M gSA [fudVre iw.kkZad]

Question ID:1569487

Ans. Official Answer NTA (4)
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Sol.
3 2

3 2 3 2 3 2 3 2 3 2

0

M |M

M | M Cr | Cr Mn | Mn Fe | Fe Co | Co

E 0.41V 1.57V 0.77V 1.97V 

         



So, negative value of electrode potential for M3+|M2+ is for Cr3+|Cr2+

So, Cr3+ = |Ar|
18

, 3d3

   n n 2 3 3 2 15BM     

3.97 4 

28. A sample of 4.5 mg of an unknown monohydric alcohol, R-OH was added to methylmagnesium iodide. A gas

is evolved and is collected and its volume measured to be 3.1 mL. The molecular weight of the unknown

alcohol is __________ g/mol. [Nearest integer]

fdlh vKkr eksuksgkbfMªd ,sYdksgkWy R-OH ds 4.5 mg uewus dks esfFkyeSXuhf'k;e vk;ksMkbM ds lkFk fefJr djus ij

A ,d xSl fueqZd gq;h ftls bdV~Bk dj fy;k x;kA bldk vk;ru 3.1 mL ekik x;kA vKkr ,sYdksgkWy dk vkf.od

nzO;eku_______ g/mol gSA

Question ID:1569488

Ans. Official Answer NTA (33)

Sol. ROH + CH
3
MgI  ROMgI + CH

4
(g)

moles of CH
4
 = moles of ROH

V m

22400 M.M
  (Assuming STP Condition)

33.1 4.5 10

22400 M.M


 

MM 32.51 

Nearest Integer = 33

29. The separation of two coloured substances was done by paper chromatography. The distances travelled by

solvent front, substance A and substance B from the base line are 3.25 cm, 2.08 cm and 1.05 cm, respectively.

The ratio of R
f
 values of A to B is __________.

dkxt o.kZys[ku ds }kjk jaxhu ;kSfxdksa dks i`Fkd fd;k x;k gSA vk/kkj js[kk ls foyk;d vxz] ;kSfxd A ,oa ;kSfxd B ds

}kjk r; xbZ nwfj;k¡ Øe'k% 3.25 lseh, 2.08 lseh ,oa 1.05 lseh gSaA A ,oa B ds R
f
  ekuksa dk vuqikr _______gSA

Question ID:1569489

Ans. Official Answer NTA (2)

Sol. f

Distance travelled bythe solute
R

Distance travelledby the solvent front

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 f A

2.08
R

3.25


 f B

1.05
R

3.25


 
 

f A

f B

R
2

R


30. The total number of monobromo derivatives formed by the alkanes with molecular formula C
5
H

12
 is (Excluding

stereo isomers) __________.

v.kq lw=k C
5
H

12
 okyh ,sYdsu }kjk cuk, x, ,dyczkseks O;qRiUuksa (f=kfoe leko;oksa dks NksM+dj) dh la[;k ______gSA

Question ID:1569490

Ans. Official Answer NTA (8)

Sol.
1 2 3

3 2 2 2 3CH CH CH CH CH 3      mono-bromination product.

3

1 2 3 4

3 2 3CH CH CH CH 4
|
CH

   
 mono-bromination product.

3

3 3

3

CH
|

CH C CH 1
|
CH

  
 mono-bromination product.


